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% % %
1. i = # 2,993,926 0.1 3,002,875 0.1 A 8,949 99.7
2. i % # 60,720,717 2.8 66,392,472 3.0 A 5,671,755 91.5
3. (£ fat # 244,150,346 11.5 324,319,225 14.8 A 80,168,879 75.3
4. IR 5 2 3,737,223 0.2 3,637,412 0.2 99,811 102.7
5. £SO B = 190,634,794 9.0 185,494,149 8.5 5,140,645 102.8
6. bR K BE 58,037,104 2.7 57,502,241 2.6 534,863 100.9
7. i T 2 281,708,621 13.2 307,447,755 14.0 A\ 25,739,134 91.6
8. [ I ¢ 139,089,098 6.5 131,771,622 6.0 7,317,476 105.6
9. % = 2 140,785,464 6.6 133,937,374 6.1 6,848,090 105.1
10. # = L ¢ 336,306,880 15.8 323,781,677 14.7 12,525,203 103.9
11. DI S ¢ 15,637,538 0.7 10,481,872 0.5 5,155,666 149.2
12. /N 1 L ¢ 247,170,979 11.6 240,291,201 10.9 6,879,778 102.9
13. B X o @ 410,888,030 19.3 409,249,035 18.6 1,638,995 100.4
14. g fii # 200,000 0.0 200,000 0.0 0 100.0
= i 2,132,060,720 100.0 2,197,508,910 100.0 A 65,448,190 97.0




